Lista de repuestos

6720609542
(2018/06) JF

ES 050/080/100/120/150 5 ... BO M1X-CTWVB

777777777777777

BOSCH




08-06-2018 2 6720609542



[de] Wichtige Hinwelse zur Installation/Montage

Die Installation/Montage muss durch eine fir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour l'installation/le montage

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxHun ykazaHus BbE Bpb3Ka ¢ MHCTanauMATa/MOHTaXa
MHcTanauuATa/MoHTa»KbT TpAGBa A1a ce U3BbPILBA OT IMLIEH3MpPaH
3a paGOTI/ITe cneynanunucT B CbOTBETCTBUE C NPUIOKNMUTE
pasnopeaow.

[cs] Diilezité pokyny k instalaci/montazi

Instalaci/montéaZ musf pfi dodrZeni platnych pfedpist provést
odborny pracovnik s pfislusnym opravnénim pro tyto préce.

[da] Vigtige anvisninger til installationen/monteringen

Installationen/monteringen skal foretages af en godkendt installa-
tor under overholdelse af de geeldende forskrifter.

[el] Znpavuiké unobeifeig yia ty eykatdotacn/cuvappoldynan

H eykatraotaon/cuvappoAdynon npénel va npayparonoleital and
£€ouc1080TNEVO YIA TIG EPYACIEC AUTEG TEXVIKO TTPOCWTIIKG, TO
onoio Oa npémnel va povTi(el WoTe va Tnpolvtal oL IoXUOUCEG
Slata&elc.

[es] Indicaciones importantes para instalacién/montaje

La instalacién/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-

tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaaZi tohib ldbi viia selleks volitusi omav

spetsialist, arvestades kehtivaid ndudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Tarkeitd asennus- ja kokoonpano-ohjeita

Naihin téihin hyvaksytyn ammattiasentajan pitda suorittaa asen-
nus- ja kokoonpanoty6t voimassa olevien maaraysten mukaisesti.
[hu] Fontos tudnival6k az installaladshoz/szereléshez

Az installalast/szerelést egy, a munkakra felhatalmazott

szakembernek kell végeznie, az érvényes eldirasok
figyelembevételével.

[if] Avvertenze importanti per l'installazionefil montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.

[he] 8503369¢wm3s50 Bomomgdgdo 0blBswszoolmgol/dmbsgolsmgols

0BbEmMI305/8mbE70 Mbs 3EbmH oL LdNBsmgdobmgol sBggdmao

335@0g8030M0 396Lmbswwols dog, dmddgwo gsbsfglol sggom.

[it] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliuoti ir montuoti, laikantis galiojan¢iy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti Siems darbams
atlikti.

08-06-2018

[Iv] Svarigi noradijumi par iekartas uzstadisanu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertifictam
specialistam, ievérojot spéka eso3os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal gjennomferes av autoriserte
installaterer, og gjeldende forskrifter skal felges.

[pl] Wazne wskazdwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowiazujacych
przepiséw.

[pt] Indicacdes importantes relativas a instalagio/montagem

A instalagao/montagem deve ser efetuada por um técnico espe-
cializado com qualificagbes para estes trabalhos, tendo em aten-
¢ao os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuierealizate de cdtre un specialistautorizat
pentru lucrérile respective, respectandu-se prescriptiile valabile.
[ru] BaxHble ykazaHuA No NofKNOUYEHUIO/MOHTaXY

nOAKqueHVIe/MOHTa)K NOMKHbI BbINONMHATbL CnelnanncTbl,
UMeLne AonycK K BbiMO/IHEHUIO TaKuUX pa60T, npu COGHIOAGHVIVI
AEeNCTBYIOLUX HOPM U NpaBwn.

[sk] DéleZité pokyny tykajlce sa instalacie/montaze
Instaldciu/montaz musi realizovat odbornik s opravnenim na
vykon tychto prac, pri¢om musi dodrZovat platné predpisy.

[sll Pomembni napotki za namestitev/montazo

Namestitev/montaZo mora izvesti strokovnjak, pristojen za

tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] Vazna uputstva za ugradnju i montazu

Ugradnju i montazu moraju da obave samo strucna lica ovlas¢ena

za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar for installation/montering

Installationen/monteringen maste utforas av en behdrig och fack-

kunnig person enligt géllande foreskrifter.

[tr] Kurulum/Montaj ile ilgili 6nemli uyarilar

Kurulum/Montaj calismalari sadece yetkili bayiler tarafindan

asagida belirtilen talimatlar dikkate alinarak yapilmalidir.

[uk] Baxniusi BKasiBKkM WOAO YCTaHOBKU/MOHTaXY

YcTaHOBKY/MOHTaX MaloThb 3AilicHIoBaTU $axisLy, Lo MaloTh A03BIN

Ha NpoBeAeHHSA LUMX pobiT, i3 OTPUMAHHA YNHHUX NPUMNNCIB.

[zh] REFEHEERT

WA B VAR I AR R &b A R B R SC BT 2235

araailifous il Laa ciliadia [ar]

Al 0 sled e o cdanlly 4l = ema panadie OB (e a5 of g

N gafiquai 0 s 43 pgea il 535 [Fa]

JalSan il oinan 5 ot S ol ol 4y Slaa 48 o) g (6358 a5 gy 3 pafcsian

o alal 4k 5y pe il jia 4y

3 6720609542



Lista de repuestos

6720907531.AA JF

ES 050/080/100/120/150 5 ... BO M1X-CTWVB

08-06-2018

6720609542




Pos

Descripcion

Numero el ordenar

PG

Observaciones

SHHEEHE
S|8|8|8/8(8/8
b v v v W Wb v
oo 00 aa
3 |Angulo soporte 87387056750 16/ M M M BN N E N
4 | Tornillo M10x16 (10x) 87387056760 06 M H M H N E N
5 |Capuchon azul (10x) 87387056730 |07 M M M N EH E N
6 |Capuchon rojo (10x) 87387056740 07 M H M M H EH N
7 | Anillo térico @12x2mm (10x) 8738713043 05 M M H H N E N
8 |Cable de alimentacién F3G1.5 L s/enchufe | 8 738 714 508 HEE u u
8 |Cable de alimentacion F3G1.0 L s/fenchufe | 8 738 714 509 u u
9 |Tubo deflector 8 738 705668 0 | 09 H EEEN
9 |Tubo deflector 8738713054 23 ®m
10 Tubo 960 mm 7736502128 20 | N |
10 | Tubo 1160 mm 7736502129 24 ]
10 Tubo 475 mm 87387056830 | 16 ]
10 Tubo 475 mm 87387056840 18 m
10 Tubo 815 mm 87387056850 | 19 |
11 |Tuerca (10x) 8738713027 |10/ m|/m ' m m m N N
12 | Termostato 7736502121 29 LN LN |
12 | Termostato 8738713661 30 ®m L
13 |Freno del sensor 8738719443 11 L
14 |Lampara 8738713665 14 M m m E E EH N
15 |Cubierta blanca 8738713669 26 @ M M HE E E N
16 Tornillo de ajuste (10x) 8738713030 10/m/m m N H N N
17 Elemento de calefaccion 2000W 7736502117 | 32 u u
17 Elemento de calefaccion 3000W 8 738 708 494 " EE ] [ ]
18 Disyuntor térmico 7736502120 30" M B B E BN
19 Anode 87387056700 23 m
19 |Anode 87387056710 | 25 | N |
19 Anode 8738709210 31 H NN
20 Valvula sobrepresion 8738708492 27 M A H B H E N
21 |Junta (10x) 87387056570 10 @ M M M EH EH W
22 Junta 87387056580 |15 M M M B EH B N
23 Arandela M8 DIN 6798 (10x) 8738713026 10 @ m m m N EH N
24 Brida de conexién 87387056590 22 M M H H H EH N
25 |Tornillo M8x16—DIN 933 (10x) 87387056600 06 ® M M N H H N
26 Pegatina 8738713682 25/m M m B H H NH
27 Boton 8738713684 14 m/Em H H E BN
28 Tornillo #4#20 DIN 965 Zn (10x) 8738713687 10/m/m H E E E ®
29 |Cableado eléctrico 2Kw ES.mecanico ¢c/LED | 8 738 714 510 u u
29 |Cableado eléctrico 3Kw ES.mecanico c/LED | 8 738 714 511 HE N L] L]
Termometro 7736502118 | 17 H EEEEN
Aislamiento galvanico 87387056640 | 21 HEEEEN
Apoyo 8738709212 12 m m/Em EH mN EH N
Tornillo M6x12 (10x) 8738713032 10/m/m m N N m N
Tuerca M6 (10x) 8738713033 10/ m m m H E B N
Tapa 1/2" (10x) 8738713041 10 M/ m m H H mH N
Kit de fixation compl. 8738713690 | 18 HE EEEER

ES 050/080/100/120/150 5 ... BO M1X-CTWVB

08-06-2018

6720609542




Tipos de aplicaciones

Aparato

Numero el ordenar

Paese

S-Nr.

Observaciones

ES 120 5 2000W BO M1X - CTWVB

7 736 503 891

Costa Rica, Guatemala

ES 150 5 2000W BO M1X - CTWVB

7 736 503 892

Costa Rica, Guatemala

ES 050 5 3000W BO M1X - CTWVB 7 736 505 236 Mexico
ES 080 5 3000W BO M1X - CTWVB 7 736 503 888 Mexico
ES 100 5 3000W BO M1X - CTWVB 7 736 503 889 Mexico
ES 120 5 3000W BO M1X - CTWVB 7 736 503 890 Mexico
ES 150 5 3000W BO M1X - CTWVB 7 736 505 237 Mexico

08-06-2018

6720609542




08-06-2018 7 6720609542



Bosch Thermotechnik GmbH

@C‘:D B OS c H Junkersstr. 20-24
D-73249 Wernau / Germany



	6720609542

